20244E H AR~ A X — R KIKEKIE RS dbifEE (RLIR) &5
25 ALR T 57— L (25m) 1/2
HIH : 202486 H2H (H)

No.34 BF 50m\2 754

< 10~T4% > P
B K4 Bils Kt B R
1 =f IEX [FHER N ES 1/ 5 38. 68 ( 0.88)
2 JHk GLF] EHSP 1/ 2 41.72 (0.71)
3 /b =R A ~~ FLR 1/ 7 43.12 ( 0.76)
No.34 B¥ 50m\%2 754 .
& 65~60% > BAmE o
B K4 Bils KEg B R
1 Wz Yl Hh—Y 1/ 4 36. 20 ( 0.81)
2 kR OSP 1/ 3 40. 77 ( 0.84)
3 KK FX 55 ONT 1/ 1 58. 55 (10.92)
No.34 B¥ 50m\%2 754 i
& 60~64% > BAnE 299
EfL K4 il KEg B R
1 LR RIA F—-SWIM 2/ 4 30. 27 ( 0.69)
2 AR ER OSP 2/ 5 32.63 ( 0.80)
3 TRl FE J.S.G 2/ 6 34.91 ( 0.71)
4 HH EE YUCHO 2/ 3 35.22 ( 0.80)
5 fkiE —I1F ol 2/ 7 40. 42 ( 0.82)
6 LA JRE =) 2 TR 2/ 2 42.52 ( 0.82)
No.34 B+ 50m/\2 754 _
& 55~59% > Bame  ast
B K4 BilE KEg  BF A
1 A iR CANSAY T3 2/ 8 41. 31 ( 0.75)
No.34 B+ 50m/\2 754 _
& 50~54% > -
BRI K4 BilE KEg  BF R
1 ~HE EsL I FEHERO 3/ 4 29. 77 ( 0.66)
2 B £E HAED > S C 3/ 6 32.04 ( 0.71)
3 KIE fli— D—Fish 3/ 1 33.29 ( 0.78)
4 FEO K NRB’ s 3/ 7 35. 74 ( 0.73)
5 Kis suif /INHEPLS 2/ 1 39.75 ( 0.76)
No.34 BF 50m/\2 754 ]
& 45~49% > Bame o0
B K4 BilE Kig B R
1 A3 Fhn FHEME C 3/ 5 31.48 ( 0.79)
2 BF BY¥ A4 b~ ERK 3/ 8 48.93 ( 0.86)

HAHEE:  6H2H 14:15



20244E H AR~ A X — R KIKEKIE RS dbifEE (RLIR) &5
25 ALR T 57— L (25m) 2/2
HIH : 202486 H2H (H)

No.34 BF 50m\2 754

& 40~84E% > BAnE 9%
B K4 Bils KEE B RS
1 HHEZIT F—ALAZ 4/ 5 28.09 ( 0.76)
2 K HEKER OSP 4/ 4 28.20 ( 0.74)
3 EME M JHTATSC 4/ 3 29. 63 ( 0.73)
4 MEHE fFR EMHESC 3/ 2 30. 60 ( 0.80)
No.34 BF 50m/\2 754 _
& 35~308 > BAne 2704
IEf K4 il Kig B RS
1 KPF§  HEds o I K K 4/ 6 31.50 ( 0.70)
2 ik BEE Jb - R 4/ 1 35.54 ( 1.08)
3 % Bt A b= ALIR 4/ 1 35.89 (10.83)
No.34 BF 50m/\2 754 _
& 30~343% > e
IEf K4 BilE: Kig B R
1 R Zpsf T-7712% 5/ 5 25. 40 ( 0.60)
2 ik e IhH&E Dk 5/ 3 26.13 ( 0.68)
3 xR K A a— L 5/ 8 30. 88 ( 0.76)
4 B [EF T -77—FK 5/ 1 31.27 ( 0.84)
5 [LE FHK KawasakiAERO 4/ 8 32. 44 (0.77)
6 Ft A o) 2 bl 4/ 2 32.92 ( 0.56)
No.34 BF 50m\2 754 ]
& 25~208 > Biwe  nm
B K4 BilE: Kt B R
1 g AREE TMR 5/ 4 25.74 ( 0.63)
2 B BB YUCHO 5/ 2 27.19 ( 0.67)
3 R HEE Apkas 5/ 7 27.40 ( 0.65)
4 ThE B8 ey =7 5/ 6 28. 71 ( 0.64)

HAHEE:  6H2H 14:15



